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Mean= average Energy
Nhits = Number of Rechit for each channel
NPV = number of Event for each channel
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Run number



https://cmswbm.web.cern.ch/cmswbm/FillPatterns/25ns_1825b_1813_1495_1536_144bpi16inj_sp.txt
https://cmswbm.web.cern.ch/cmswbm/FillPatterns/25ns_458b_446_360_372_48bpi13inj.txt

2015D Trend Plot
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Run number
Mean= average Energy

Nhits = Number of Rechit for each channel

NPV = number of Event for each channel


https://cmswbm.web.cern.ch/cmswbm/FillPatterns/25ns_315b_303_270_276_72bpi9inj.txt
https://cmswbm.web.cern.ch/cmswbm/FillPatterns/25ns_601b_589_540_552_144bpi7inj_sp.txt
https://cmswbm.web.cern.ch/cmswbm/FillPatterns/25ns_601b_589_438_459_96bpi9inj_bcms.txt

2015D Trend Plot
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Conclusion

We checked the 2015C and 2015D data sets and Compared for same condition runs.

Didn’t use any trigger and normalization.

Next step we will use HLT trigger and Normalization. On the other hand, we will check 2016
Runs and i will show new results.

Thank you ©



